Retrieval questions
	Work out without a calculator:






	The Jones family use ¾ of a carton of milk every day.
What is the minimum number of cartons needed so that the family have enough milk for 7 days?  You must show your workings.
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Solve:

4 (x - 5) = 7x + 2
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Wendy goes to a fun fair.
She has one go at Hoopla.
She has one go on the Coconut shy.

The probability that she wins at Hoopla is 0.4
The probability that she wins on the Coconut shy is 0.3

(a) Complete the probability tree diagram.
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(b) Work out the probability that Wendy wins at Hoopla and also wins on the Coconut shy.





